
CH-3 SUBTRACTION

ASSIGNMENT NO. 1

SUBJECT: MATHEMATICS CLASS-III _____ JULY,2025

NAME: ________________________ DATE: _______________

Q1 Find the difference. Then check the answer through addition.
905 - 264

Q2 Solve and estimate by rounding off to the nearest hundreds.
523 + 784 + 362

1.
2.



Q3 Subtract by splitting the numbers.
5432 - 4321

Q4 Solve-
985 - 589 + 209



Q5 Riya went to the toy store with her mother. She had ₹ 1000 with her. She bought the following items:

Toys Price
Teddy Bear ₹ 100
Puzzle Game ₹ 371

Ludo ₹ 525
Based on the given information answer the following questions.

a) How much money did she spend ?

b) How much money is left with her after buying all the toys?



ASSERTION AND REASONING

DIRECTION : In question 6, a statement of Assertion (A) is followed by a statement of Reason (R) .
Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.
d) Assertion is false but Reason is true.

Q6 Assertion (A): Rounding off 275 to the nearest hundreds is 300

Reason(R): A number is rounded up to the next hundred if the last two digits are equal or more than

50.



CH-4MULTIPLICATION

ASSIGNMENT- 2

SUBJECT: MATHEMATICS CLASS-III _____ JULY,2025

NAME: ________________________ DATE: _______________

DODGING TABLE

12 × 9 =

13 × 4 =

14 × 3 =

15 × 7 =

8 × 5 =

MENTALMATHS

Q1 When any number is multiplied by 1, the product is __________________.

Q2 4 × 3 = _________ × 3

Q3 1000 × ________ = 6000

Q4 12 added to itself 6 times _________.



ASSERTIONANDREASON BASEDQUESTION

DIRECTION : In question 5 a statement of Assertion (A) is followed by a statement of Reason (R) .
Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.
d) Assertion is false but Reason is true.

Q5 Assertion (A): 1 × 4 = 4 × 1

Reason:When any number is multiplied by 0, the product is always be 0.

Q6 Write in columns and find the product.

794 × 8



CASE STUDY BASED QUESTION

Q7 The table below shows the stationery bought by Harman in a week.

Based on the given information answer the following questions.

a) If the cost of 1 Geometry box is ₹52. What will be the cost of 24 geometry boxes?

b) If Harman bought 6 Pens for himself and his friends. What is the total cost of 6 pens?

c) Harman bought 5 Pencils and 3 Notebooks. What is the total cost of all these items together?

Name of the stationery

item

Cost

Pen ₹50

Pencil ₹10

Notebook ₹44

Geometry box ₹52


